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COMMERCE
(Honours Core / Regular)

, Papef COM—HC—4016/COM RC 4026 ’
o - Cost Accounting )

- Full Marks : 80

‘Time : Three hours

The SJigures in the margin indicate :
full marks for the questions '

Answer either in English 'o"’r»i'n Assamese.
1. Answer the followmg as dlrected

1x10=10
ﬁmwﬁwmwm
(@) __-__+ Factory Overheads Factory :
Cost o " (Fill in the blank)
L R SR 0w = i 93
(ATt 5% 759 )
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(b) In case of fhatérial control, full form of -

ABC 1s . . " (Fill in the blank)
mﬁrﬁa@wm— ABcavgﬁvti’a |
| - (2/757’7 312 ofst W)

(c) Which of the followmg is not a reason

for abnormal loss

Wﬁzrr mmqum?

B (_i_). Defectwe machmery
L ",@%vffmvnﬁ-s |
| (u} Voltage flucme;tlon
o
) Acgide'gt': |
| (w) Nature 'of’ raw materiél
- (Select the correct answer)
(A% GewIit AR Ghvew)
— 0234 2

e o

o

(d) In Which of ‘the following plans, time
wages are not guaranted ?

wﬁmm@m@mmwwqﬁa

"WWW? |
() - Halsey

(i) Rowan
(i) ‘Taylor .
1.7(1;0) Génft ‘

. (Select the correct answer)

(W@WW@WW)

(e) Indlrect expenses are also known as‘
S - (Fill in the blank)

'mwmfiﬁm@wmn
| (?//a‘?év?qa«rw)

BO4FA 0234 3 : " Contd.



iR 'In .Contract co,sting m_o,s_t of the, costs -

are direct. . .

(State whether the statement '

. is true or false)

fkﬁ S Wﬁﬁm S &W |
. < (BT 7%y ¢ Ty fopaiy)
(99 Under non- integrated' accounting
" system, - account is prepared to
complete double entl’Y

| *wﬁmﬁmsﬁ%@wmmtw'
AT _. o s AL
: ' (Wﬁwr )

(h) Cost Accounting is a method of
_cost. o
(Flll in the blank wtth appropriate word)

Sest '<1FI Bpioeed (e - IR @Bt

' %%l .' (ﬁ?@@*ﬁ@ﬂiﬁ?ﬁﬁ‘??ﬁf)
.(i) ‘ What is 1dle tlme ?
'meﬁs? '

BO4FA 0234 : 4 S

(Fill in the blank)' :

2.

- b) Deprecxatlon is a serm—vanable

expense.
(State whether the statement
is true or false)

' Wticsw&f vn%a:-ﬁﬂa W@

- (mwmwﬁw)
Answer the followmg questlons 2><5 10
wﬁmm«@mﬁm |

- (a) What i is meant by Store Ledger'P

QA AT Wi e

A(b) What is meant by process costmg'-’

eiferan I fRpisieaet e ﬁs?

(c) What is meant by‘ Jobj costing?
o Rovoreet A B2

(ét) What is meant by 1ntegrated
accounting ?

aﬁwﬁwmqmﬁs?

(e) _State the meaning of t1me study in-
- labour costing.: »

e oot T S S SO

BO4FA 0234 _ B 5 . A ' Contd.




3. Answer any four of the followmg questlons

. 5x4=20 |

(a) The followmg mformatlon has been :
obtained" from ‘the' ‘cost records of a

- factory : - il SRR S St 100 -ColfE | @S0t cailb
@WWWWWWW 4000W1400 C"ﬁﬁﬁ@ﬂ@l
?QCQ - o o _ . Prepare cost statemeént showing cost of
- o T oducti it'and profit.
IR D1rect matenals Rs. 15,00,000 T procuction per unit anc.p
SRR EICEA L e T aﬁcwm@wﬁwqmmwmmaﬁ
: S e 1 ﬂﬂﬂﬁiﬂﬁﬁ%&@‘?ﬁtl '
L PF’#?t nges, .~ Rs.10,00,000 * (b) The particulars of Matenal ‘A’ is given
a &Wﬂqﬁ o S below : i
. i ﬂﬁ@a ﬁém w ﬁirr ?z’?r
Factory expenses at 25% of pnme cost
»W b W T 25% .' Normal usage _; 4,200 umts per week
mamw R mﬁﬁ«aﬁﬁ@rzoo-
'\Admlnlstratlve expenses at 20% of S || A ‘
: factory cost. i _ o . : .
- JrfeEa WWW 20% - ifﬁm“m usage /100 units per week .
R .Selfhn:g and dlstnbutlon expenses at CIGC Wﬁ T g&ﬁﬁ« 3!% TS
320 per unit.. i i 100 (O '
ﬁ@wﬁwct%:’azo Tﬁreﬂ% incil
BO4FA 0234 .6 PR ‘; BO4FA 0234 -7 , IR _"v'Cb‘n'td.

Openmg stock of -finished - goods (300

‘units) at ¥ 3,00,000 and closmg stock" .
of finished goods is 100 units. 1400 .

units sold at ¥4, 000 per umt ;
s TGS 9(‘11 300 Colfee 3,00, 000 St




- Max:mum usage
- each .

: 300 ,units per week

600 units
600 (o5

Re%ordelfmg qﬁantity :
: 3 to 5 weeks |

Re-ordering penod
| 3 R 5 AR

?.[« mﬁ« il
Calculate the following :
Q) Re-orde_ring, level -
PREEE T
'kii)' Minimum stock level. |
YO NS T T
(i) - Maxifnum stock level
| D TGO AGI T ,
‘\(iv)' AVerage‘ stock level |

NG TGS A4 T

BO4FA 0234 8

. oo Re A eRD 300

o f{c)'.

(e)

BO4FA 0234 . 9

Explain the following: . 2%+2%=5

(i) Rowan Premiurﬁ Bonus Plan

@mwﬁmmm

' {u) Halsey Pren'uum Bonus Plan

Wwi‘mmsmw

(d) What is meant by overheads ? Mention

‘any three features of ﬁxed overheads

ool T e Rt TR SR T R

fefabr ey Brat AL 2+3=5

How :-is. the. ’profi\t‘ ofian ineompl'ete '
contract ascertained ? E'Xplaiﬁ o
wwsrf f51 o1l =TS @fca?.as Aot asﬁa wrﬁ?
[yt WI

Mentlon ﬁve ob_]ectlves of cost

accountmg

%vmmfimwa vﬁsbrﬁrww«n N

- .Contd.




4. Answer any four of the following questions :

10x4=40

wﬁmmmwﬁﬁmwm

.» @

State any five. dlfferences between the

followmg - 5+5=10

| 'wmwwﬁmoﬁmm@

ixaaasr

,(l) | Cost Accountmg and F1nan01al

‘ ~Account1ng
T Roteieaet o R ﬁsm-«r

| | (ll) Cost Unit and Cost Centre

'aprcm%vmaraﬁraﬁz

{What is ‘Economlc Ordering Quantlty’ ?

Explaln any four techniques of
mventory control.

‘Rakesh works in a factory from the -
followmg 1nformat1on, calculate h1s '

carning per day under :°

‘JQRR“TﬂmTﬁ$¢ﬂﬂF‘¢FlﬁI€lQﬁ“iﬁ?ﬂﬁﬁmav

9Rﬂoseaeﬁ%ﬁﬂaﬁ?wﬁhewﬁnast

Q. ~ Straight piece. rate, and

- WWﬁErﬁaiﬁ,, |
BO4FA 0234 0 W

2+8= 10‘

fﬁ*ﬁsaﬁﬁ‘wéﬁs'ﬂnn ﬁ$r=ﬂrs'ﬁqrﬁvmms.
o ~ﬁ?ﬁ5ﬂﬁﬁﬁ7éﬁ*ﬁﬁﬁ%1$ﬁl ~
_ (c)"_

'

Lo

(u) ’I‘aylor s D1fferent1al p1ece rate
system - : -

ﬁﬁﬁﬁavmwﬁﬂvrﬂrisa9ﬁﬁss

, Normal rate per hour 7 10

. iR o T 10 5 ;

Standard tlme per Unit 12 mmutes

| 'tmwwaﬂﬂneﬁ3Cﬂﬁss121ﬁﬁﬁ

@

BO4FAG234 -~ - 11

leferentlals

OIS o

80% of piece rate below- standard

W RICLSE W A Tzﬁ? “TW 80%:

120% of plece rate above standard

eﬂwawwww 120%

Productlon achleved 200 un1ts per"-
day. ' .

T 200 mﬁﬁzsﬂﬁkemﬁwiﬂl

What is meant by over—absorptlon and
under- absorptlon of .dverheads ?

" Mention any six causes of such over-
absorpt10n and under-absorptlon

4+6'1o

“ Contd, -



(e)

‘Material jssued -

: Wwﬁﬁf

" Wages incurred

- “Other expenses incurred

- %ﬂﬁmvwmwmmﬁ?

mw\%mmatwwwﬁmmwﬁw

T =1

.- A_ firm of building contractors began to
- trade on 1st April, 2024. Following was
_ the eipenditﬁrc on a contract for
- ¥15,00,000' |

1 April, 2024 5, ﬁﬁﬁmﬁ@mm
QAT [T W I | OqS oD
15,00,000 5t 5%t i1 YooTR Trad
" 22,44,000
Plant 1ssued - 1,30,009
Tl R

.21,18,000
R

- 21,30,000

BO4FA 0234 12

ST

. - <

_ Cash received- on' account of 3lst
- ‘March, 2025-amounted to ¥ 4,80,000

being 80% of the work certified. Of the
Plant and Materials charged to contract,
Plant which cost¥ 15,000 and Materials

) Wthh cost ¥ 8,000 were Cost. On 31st
‘March 2025 Plant costing ¥ 30 000 was

returned to stores. The cost of work

done but uncertlﬁed was i 40, OOO and

materials costlng i 8 600 were in hand
on site. L '

p Charge 10% deprematmn oanlant and

prepare Contract Account.

3162025 SO%WWqﬂaatﬁaﬁﬁ%r'
4,80,000 5% 53 Rpiv 211 37 | {3t Rotoiw
P @A 15,000 T3 R AR
8,000 B! IR APuy o 27 | 31 W6, 2025,

30 ooo%asrwmvnﬁ@ﬁmaqaﬁﬁmml
40,000 TR SEIslT oifd o &I, 8,600

: Wwotmwmmmwmwﬁ
0

WVH@‘{@W 10%%@@%3?@%
f2pist oge =01

BO4FA 0234 13 | Contd.



(f)

‘The following is the summary of
transactions obtained from the costing

. records of a company

. Roteieet 1R SRt TN TR -

. birect Wa’ges"‘(_vcash)': L 4 65,000_ -
oop O (W) |
Indirect Wages (Cash) 220,000

- Purchases (Cash) E 45,009
& (mm) | '

" Purchases (Credlt) : 22,15,000 .'
@ (%) |

' Stores 1ssued agalnst .
prOductlon order -¥ 1,90,000
ST W oot Rfer
Work expenses (Cash) R 50;000 .

Wmmmaﬁ@wﬁam

I '\’H‘D_ (?ﬁﬁ)

" BO4FA 0234 14

~Work expenses
allocated to’ _]ObS
; W W w asmnzn W

~ Finished goods frahsfered " o
¥ 4,50;00,0 3

Admlmstratlve expenses

‘a*nﬂﬁm-«s

- Admlmstra'twe- expenses '
- allocated to jobs

T ST < &I A
to Warehouse "

stmaw

You are requlred to Journahse the above
transactlons under 1ntegra_l accountmg

' - system. -

ewwmmﬁwmqwﬁsg

Sl eﬂ%rf‘?v; Sall
(g) - What is labour turnover ? What are
~ various -causes -of labour turnover ?
Explain in brief. . 3+7=10
i oI e e Wi ot [Rifon vivd &
52 AT A T
BO4FA 0234 15 . Contd

isoooo

. ¥55,000-

254,000




(h) Briefly descnbe the need for and
. .procedure for integration of Cost
Accountmg and Flnanmal Accountmg

S X

5+5=10 ’ a
ot R Rt i RS e ezt -
R I@ﬁlﬂwl@@@ﬁwﬁmaﬁwl

' . ’ . . . .
BO4FA 0234 . 16 2000



